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All calculations are done with numbers in base n, a prime number greater than 2.

The contradiction:

The Fermat equality does not hold over (k+1)-th digits, where k is the number of zeroes at the

zeroes ending of the number U=A+B-C=un*.

The notations that are used in the proofs:

A'/ Ay — the first / the k-th digit from the end of the number A;

Ay is the k-digit ending of the number A (i.e. Ay =A mod n*);

Apey — the number remaining after removing the k-digit ending of number A.

So, let's assume that for natural numbers A, B, C and prime n>2:

1°) A™+B"=C", or A"+B"-C"=0, where

2°) U=A+B-C=un*, where n is not a cofactor of u. And, if the digit

3°) u"={ U+ 1-[(Apa+Bua-Cua) Is 1} '=0,

then we multiply the equality of 1° by 2" [for convenience, the notation of all numbers and

numbers with new values will remain the same], after which

4°) u"=(Ags1ytBus1)-Cae1y) 20 [because Apg+B-Cpq can have only two values: 0 or n*].

5°) Lemma. A' = A™ [another form of Fermat's little theorem].

6°) From Newton binomial (A g.yn*+Apg)"=Dn*"*+A g +Ap", it follows that (k+1)-th digit

of the degree does not depend on (k+1)-th digit of the base.


https://www.multitran.ru/c/m.exe?t=1553087_1_2&s1=%E1%E8%ED%EE%EC%20%CD%FC%FE%F2%EE%ED%E0

Proof of the FLT

ACCOFdng to 5° and 2°, the dlglt (A[k+]“+B[k+]“-C[k+]“)'=(A(k+1)+B(k+1)-C(k+1))'=u*¢0

and, after recovery of discarded endings Apq, B, Cng in numbers A, B, C, retains its value

because (Aw"+Bp"™-Cn"x+11=0 (see 6° and 1°) and the digits Ax+1), Bx+1), Cie1) Of the bases are

not involved in the formation of the digit (A"+B"-C")w:1) (see 6°).

This confirms the truth of Fermat's Last Theorem.

Mezos, May 13, 2018.



